Ay HI-LITE ME(G. 13450 Monte Vista Avenue  Telephone: (909) 465-1999  Fax: (909) 465-0907
§ Chino, California 91710 Toll Free: (800) 465-0211 www.hilitemfg.com
S CO., INC

Mounting Instructions for HSC Canopy

1. Disconnect power at main electrical box before installing fixture. Junction Box

2. Align rotating ball in canopy to accomodate size of connecting stem \
(1/2" or 3/4").

3. Attach shade to bottom of stem using thread joint compound or Wire Nuts
thread sealant.

4. Screw top of stem into canopy, thread wires through canopy and use Green
wire nuts to connect black to hot and white to neutral.

5. Ground green wire at grounding screw in junction box.

6. Align canopy mounting holes with junction box and secure with 8-32 screws. Black

Q J

Canopy_/

Pipe joint
compound
or Teflon tape
required. Rotating Ball
Nut
8-32 Screw
Shade
Stem/

HI-LITE MF(G. 13450 Monte Vista Avenue  Telephone: (909) 465-1999  Fax: (909) 465-0907
Chino, California 91710 Toll Free: (800) 465-0211 www.hilitemfg.com
CO., INC

-z M. e

Mounting Instructions for HSC Canopy

1. Disconnect power at main electrical box before installing fixture. Junction Box

2. Align rotating ball in canopy to accomodate size of connecting stem \
(1/2" or 3/4").

3. Attach shade to bottom of stem using thread joint compound or Wire Nuts
thread sealant.

4. Screw top of stem into canopy, thread wires through canopy and use = Green
wire nuts to connect black to hot and white to neutral.

5. Ground green wire at grounding screw in junction box.

6. Align canopy mounting holes with junction box and secure with 8-32 screws. Black

Canopy_/

Pipe joint
compound
or Teflon tape
required. Rotating Ball
Nut
8-32 Screw
Shade

Stem/




	Sheets and Views
	ANSI A Title Block (portrait) (2)


